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CLASS XI
SAMPLE PAPER
MATHS

Co-ordinate Geometry

Time: -1 % hr F.M-50
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[2x10=20]

Find the distance between the points (a+ b, b+ c)and (a—b,c—Dh).
For what value of ‘a’ points (a, -1), (1, -1), (11, 4) are collinear.
Find what the following equation become when the origin is shifted to the point (1, 1), x*+

Xy — 3x -y +2=0.
What can be said regarding a line if its slope is,
(i) Zero. (ii) Positive. (iii)Negative.

Express x+y+1=0 in normal form and find p=? and o =?

Find the distance between the lines: 3x - 1 = 0 and x + 3=0.

Find the length of perpendicular drawn form origin to the line 2x -1 = 0.

Find the angle between the lines: x -y =0and x + y =0.

Find the value of A so that the lines3x —4y —13=0,8x—-11y—-33=0and2x-3y+A =0
are concurrent.

State whether (1,2) & (-2,7) lies same or opposite side of the line x -3y +14 =0

[6 x 5 =30]
Find the ratio the line segment joining (2, -3) and (5, 6) is divided by the co — ordinate axes?
A rod of length | * slides between two perpendicular lines.

Find the locus of the point on the rod which divides it in the ratio 1:2?

Find the distance of the point (3,2) from the line x+3y - 1=0,
measured parallel to the line 3x-4y+1=0.

In which direction a line be drawn through (1, 2) such that the point of intersection of the line

X +y =4 and this line be at a distance (?] from the given point.
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6) Prove that
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perpendiculars from the points

(+/a? —b ,O)tothelinexczse + yst')“g _1isb?.
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